
6.1 Exercise     MATH 241    THOMPSON 
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6)  

 

 1 - (0.24+0.47+0.07) = 0.22 

 

 

7) 

       Total = 71  then 
16

71
= .2254 for each x value 

           ------OR USE STATCRUNCH------- 

        ENTER the table into var1 and var2 

 

 

 

 

  

 

  Plug in each x = 

STATCRUNCH 

STAT – CALC – CUSTOM 

Values – X 

weights – P(x) 

CALCULATE 



 

  

      

      

 

 

 

 

8)  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

     1(0.232) +2(0.296)+3(0.169)+4(0.111)+5(0.096)+6(0.021)+(7(0.024)+8(0.051) 

 

 

 

 

 

 

 

 



9)  

  

     

 

 

     ENTER COLUMNS INTO STATCRUNCH 

 

   

                      Plug in each x value to get P(x) 

 

 

 

  

 

 

10) 

 

 

 

 

 

 

 

 

 

 

 

 

 

STATCRUNCH 

STAT – CALC – CUSTOM 

Values – X 

weights – P(x) 

CALCULATE 

STATCRUNCH 

STAT – CALC – CUSTOM 

Values – X 

weights – P(x) 

CALCULATE 



 

 

 

 

 

 

 

 

 

 

 

 

11) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

STATCRUNCH 

STAT – CALC – CUSTOM 

Values – X 

weights – P(x) 

CALCULATE 

STATCRUNCH 

STAT – CALC – CUSTOM 

Values – X 

weights – P(x) 

CALCULATE 

STATCRUNCH 

STAT – CALC – CUSTOM 

Values – X 

weights – P(x) 

CALCULATE 



 

 

 

 

 

 

 

          =  2 

    

 

 

                      at least 2 

 

12)  

 

 

      

 

 

       Plug in each x value to get P(x) 

 

 

 

 

 

 

    Still from same answer 

STATCRUNCH 

STAT – CALC – CUSTOM 

Values – X 

weights – P(x) 

CALCULATE 



 

 

 

 

 

 

13)   

 

   350 – (240,000 · (1-.999629) = $260.96 

 

 

 

 

 

 

14)  

 

 

       40000(.2)+10000(.7) - 40000(.1) = 11000 

 

15) 

 

 

         280 ∙ (
1

38
) − 8(

37

38
) = - 0.42 

 

           multiply by 1000 $421.05   

 

 



16) 

 

  

 

           part a is the mean 

 

 

     

If you played the lottery many  times on average you would win the expected cash price per 

lottery ticket. 

 

       1 - .28 

 

This suggests a wide range of payouts 

 

 

(c)    Make a new column excluding the 1st row 

 
               

 

 

 

     

 

(1−µ)

𝑃(𝑥) 𝑜𝑓 𝑟𝑜𝑤 1
 =  

(1−.1899)

.00000000658
      124,000,000 

number in top right of original problem      *round up 

This suggests a wide range of payouts 

(d)No, because your chance of winning is determined by the properties of the  

   lottery, with no payouts. 

STATCRUNCH 

GRAPH – SCATTER PLOT 

Values – X 

weights – Y 

CALCULATE 



EXTRA 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 For each square foot added to the area, the expected asking price of the house will increase by $68.43. 

  (g) Is it reasonable to interpret the y-intercept.   No 

  (h) One home that is 1.094 square feet is listed at $189,900. Is this home’s price above or below average for a home of this size? 

  Above average 

        May there be some reasons for this price? 

  Yes 


